10. R ERMERA RT3

10-1 8=
KK40

HIWIN.
K02LC02-0501

58 4-M3x0.5Px4 5DP
25 gg 2xn-@3.4Thru, @6.5x3DP
2x2-M2.6x0.45Px4DP |
( 10x1.2DP /5.
26 3 //’ 7 il ‘
el Lo A #meqe =
(A Ne (L L P
el b G @ &2 @ @ 0 @ -
18 _|_11 ik /] i 1
40 2 M2.6x0.45x4.5DP 6
A-A Rail Length
L1
49
PCD29 4-M3x0.5PX6DP 12 25
145
\,%;\\/ @ - A -
g S, f =
53 & ;_f‘ N P \ 'E "$J\ w‘ff,,fgi
Nglm_ 1@\&;/{& . - P e— = — | = o I % ViewB
S g™ - a2\ o g‘ DV 7 //// - :7 7 = §
[1 LH /] CE LT — —
View B } 1 S 60 o
(n-1)x60
HEBKE K BmAITEE (mm) G n EE (ko)
(mm) (mm) Al g B A2 75 B (mm) (mm) Al g A2 5B
100 159 36 - 20 2 0.48 -
150 209 86 34 15 3 0.6 0.67
200 259 136 84 40 3 0.72 0.79
74
K K 50 2xn-@4.5Thru, .47
@ 8x4DP ‘ .30
2x2-M2.6%0.45Px4DP 15%1.3DP 4-M4x0.7Px6.5DP
. AJH LA, —
e A T Y 0 o -
ml Vg 9l EE= L g?? = b3
‘ ] QH o & @/ Y& etHe He —
i [ T & .
1 2 L 125 ‘ 2-M3x0.5Px4DP 57
50 K G
A-A Rail Length
L1
60
4-M3x0.5PX6DP 14, 34
PCD33 T65
»ﬁ«—m 10
. % ¥ » - 5
° o dTF——T 1 ___0 N 7®: View B
IE@% ’ Q i — S
* % “\4‘!‘ \4!‘ ‘\4!‘ - “\4‘!‘ 5
A
View B 80 G
(n-1)x80
WERE || 2K BATE (mm) e | wm | . £E (g
(mm) (mm) ALBEE | A28 | (mm) | (mm) ALBEE | A2BEE
150 220 70 - 35 80 2 1 -
200 270 120 55 20 160 3 1.2 1.4
250 320 170 105 45 160 3 1.4 1.6
300 370 220 155 30 240 4 1.6 1.8




